ER-BX-I5RBRER

e F2IEBRARR LI LHRAE

FfE B Tri265E8R178 (R)

5P E2 OHFELHRIS
[(BF]
# B 95 | IERL K4 L EE 3 JELiR
60m M30 1 AW N & 7.37 -0.5
60m M30 2 £k B & 7.46 -0.5
60m M30 3 RiF E—E RIG 7.80 -0.5
60m M30 | 4 LT &# fafE 7.80 -0.5
60m M35 1 Bl 24 & 7.52 -0.5
60m M35 X5 Bt RER
60m M40 1 s & 7.76 -0.1
60m M40 2 mo #a RIG 7.88 -0.1
60m M40 3 e fE— & 8.29 -0.1
60m M40 | 4 EaD B & 8.60 -0.1
60m M40 5 [RE IEf & 9.12 -0.1
60m M40 *F 8 RIE
60m M40 B3 W—EB =
60m M40 g & &l
60m M45 1 ML &tk & 7.79 0.8
60m M45 | 2 NG E RIG 7.88 0.8
60m M45 | 3 A jEe fa ] 7.93 0.8
60m M45 | 4 NI PN & 8.14 0.8
60m M45 5 ZH AT IN= 8.44 0.8
60m M45 | 6 E A taE 8.51 0.8
60m M45 =K % &
60m M50 1 =0 &5 & 8.29 -0.6
60m M50 | 2 ING B RE &5 8.61 -0.6
60m M50 | 3 i =58 & 8.82 -0.6
60m M55 1 PE PERE REAR 7.89 -0.6
60m M55 2 B B = 7.97 -0.6
60m M55 3 HE FA & 8.10 -0.6
60m M55 | 4 HE RXK &E 8.21 -0.6
60m M55 5 @A FA & 8.46 -0.6
60m M55 it IERE &
60m M60 1 ER EE pEd v 7.90 -1.2
60m M60 | 2 Fik &= & 8.60 -1.2
60m M60 3 HFT i BERS 8.73 -1.2
60m M60 | 4 INEF BE = 8.98 -1.2
60m M60 5 £k BB & 9.10 -1.2
60m M60 6 NHE —B & 9.14 -1.2
60m M60 7 fal B & 9.49 -1.2




# B 95 | ST K4 R L8R AR
60m M65 1 K# HE fafE 8.72 -2.1
60m M65 2 gk 4 & 8.81 -2.1
60m M65 3 nmna #x & 9.55 -2.1
60m M65 | 4 WE EE & 9.85 -2.1
60m M65 BEM M= fa ]

60m M70 1 XE B&sh & 8.87 -14
60m M70 2 HFE ZH wn 9.87 -1.4
60m M70 | 3 #HL BF & 11.06 -14
60m M70 R Ef fafd

60m M75 1 ElG BE & 9.78 -1.4
60m M75 2 XH A & 10.21 -14
60m M90 1 Ewk E 1= 11.97 -14




# B 95 | ST K4 R L8R AR
100m M20 1 T AR & 13.00 0.9
100m M30 1 AW NI = 11.64 -0.4
100m M30 2 £k B &2 11.81 -0.4
100m M30 | 3 Il A & 12.16 -0.4
100m M30 | 4 LT &# & 12.24 -0.4
100m M30 5 RiF E— R 12.36 -0.4
100m M30 [ 6 HE B&E = 12.38 -0.4
100m M30 7 =TI E/S & 12.40 -0.4
100m M30 | 8 R Efh & 12.44 -0.4
100m M35 1 KB Rt REXR 12.01 0.9
100m M35 2 IH ZEH RIG 12.56 0.9
100m M35 | 3 LeiE BE = 14.10 0.9
100m M40 1 i B & 12.03 0.2
100m M40 2 (AT i fa [l 12.34 0.2
100m M40 3 Hig FER RIG 12.51 -0.1
100m M40 | 4 nma #a KI5 12.56 -0.1
100m M40 | 5 1]z g = 12.73 0.2
100m M40 6 e fE— 1= 13.12 -0.1
100m M40 7 RElE JIE— RIG 13.32 0.2
100m M40 | 8 PRV = 3 & 13.60 -0.1
100m M40 | 9 [RE IEfF & 14.82 -0.1
100m M40 25 FA| &

100m M40 *F 81 RIE

100m M40 B3 W—EB =I5

100m M40 g & &

100m M45 1 XE BE & 11.92 0.0
100m M45 | 2 N = RIE 12.39 1.0
100m M45 3 XK EX RIG 12.52 1.0
100m M45 4 R —17 wn 12.60 1.0
100m M45 | 5 ML & & 12.61 0.0
100m M45 | 6 A e & 12.70 1.0
100m M45 7 N - & 13.16 1.0
100m M45 8 ZH AF /N 13.52 1.0
100m M45 9 e 2 & 13.53 0.0
100m M45 [ 10 IS < &5 13.61 0.0
100m M45 | 11 sl K fa ] 13.94 0.0
100m M45 = AR &




# B 95 | ST K4 R L8R AR
100m M50 1 HF & = 12.78 0.6
100m M50 2 =0 558 & 13.22 0.6
100m M50 3 INE REE &5 13.72 0.6
100m M50 | 4 ] & 14.09 0.6
100m M50 Bl E— &

100m M55 1 RE [ERE REXR 12.60 0.6
100m M50 | 2 B B = 12.73 0.6
100m M55 3 HLE FA & 12.90 0.6
100m M55 | 4 HE REK &5 13.39 0.6
100m M55 5 LA &5 x5 14.06 0.6
100m M55 | 6 mE &A & 14.92 0.6
100m M55 @R A &

100m M60 1 FER BE Zi% 12.57 0.6
100m M60 | 2 ik &= & 13.86 0.6
100m M60 3 N BE & 14.14 0.6
100m M60 | 4 HE XX & 14.55 0.6
100m M60 5 ki RE &l 14.84 0.6
100m M60 6 =i = & 14.88 0.6
100m M60 7 L B a6 15.35 0.6
100m M60 & F1T &

100m M65 1 K EE & 13.58 0.3
100m M65 | 2 nngE & & 14.13 0.3
100m M65 3 na #x & 15.33 0.3
100m M65 | 4 WE EE & 15.91 0.3
100m M65 5 KA #£A & 16.35 0.3
100m M65 BEM B &

100m M70 1 KE FEsh 1= 14.50 0.2
100m M70 2 HFPE R iT]m 16.14 0.2
100m M70 kR Eth &

100m M75 1 Bl BEE & 15.65 0.2
100m M75 2 B = & 16.35 0.2
100m M75 | 3 XHF FHE fa ] 16.39 0.2
100m M80 1 HE B = 19.03 0.2
100m M80 1 Em B fa ] 20.51 0.2




# B 95 | ST K4 R L8R AR
200m M20 1 N B &k 25.65 0.4
200m M30 1 AW N & 23.83 -0.9
200m M30 2 kK & 2453 -0.9
200m M30 | 3 Il A & 24.95 -0.9
200m M30 | 4 T &# & 24.98 -0.9
200m M30 | 5 HE BE 1= 25.16 -0.9
200m M30 6 =l EA & 25.38 -0.9
200m M30 R Eh =
200m M35 1 IH ZEH RIG 25.07 0.4
200m M35 KB Rt 1N
200m M40 1 it By & 24.23 -0.5
200m M40 1 XE RE R 24.43 -0.5
200m M40 HIE #i RIG 25.98 -0.5
200m M40 3 I3 < &EE 28.39 -0.5
200m M40 =B A% tE
200m M40 iR —17 o
200m M40 A 58 &l
200m M50 NG BE &5
200m M50 EN &R &
200m M55 1 RE [ERE RER 27.98 -0.5
200m M55 LA &5 N
200m M60 1 INE EXR & 36.89 -0.5
200m M65 1 K EE & 28.94 -0.5
200m M65 KA £A &
200m M70 1 N E&E f& ] 34.60 -0.2
200m M70 2 g4 FA & 41.93 -0.2
200m M75 1 FEl% BEFE & 34.98 -0.2
200m M75 | 2 XHF FHE fa ] 35.46 -0.2
200m M75 3 BE —= & 40.90 -0.2
200m M75 BE IBEZ =
200m M80 1 HE B = 41.61 -0.2




# B 95 | ST K4 R L8R AR
400m sM20 | 1 N B & 56.41
400m SM30 | 1 HE B&E & 57.92
400m M35 2 JIH EE RIG 59.38
400m M35 1 Xz =F & 56.07
400m M40 1 Hig FEE RIG 1.01.54
400m M40 X E# &

400m M45 1 R —17 o 58.36
400m M45 2 FI RE &8 1.05.37
400m M45 F5 8t fa& ]

400m M50 1 =H s &8 1.04.58
400m M50 =N ik &

400m M55 1 it IERE & 1.19.20
400m M60 1 fEk & REAR 1.09.01
400m M60 1 NG FEX & 1.42.65
400m M70 1 all &5 &l 1.34.74
400m M70 2 8 FA & 1.44.92
400m M75 1 Zxk LB & 1.38.49
400m M75 | 2 BE —= f& it 1.38.98
400m M80 1 HE B & 1.44.31
800m M35 1 XiE =F & 2.39.57
800m M40 XX R f& ]

800m M45 1 F5 #t & 3.07.94
800m M50 1 |To1eF-Ovvy fafd 2.39.65
800m M55 1 E JE— = 2.44.46
800m M65 1 X5 8IE & 2.55.45
800m M65 2 XE EBRX & 3.49.97
800m M70 1 SR FIER &k 2.57.09




# B 95 | ST K4 R L8R AR
1500m M35 1 BlS BE fa& i 5.22.36
1500m M40 1 X & & 5.13.46
1500m M45 1 BiI =& & 4.59.37
1500m M50 1 HH B &8 4.41.65
1500m M50 | 2 |ToqEF-DvVs fafd 5.09.95
1500m M55 1 E JE— = 5.28.80
1500m M55 2 E &t wn 6.52.78
1500m M60 1 Bitg BE4 = % 5.30.05
1500m M60 | 2 o g fa 5.33.18
1500m M60 KE X &

1500m M65 1 Xi&E BE f& i 5.50.89
1500m M65 2 58 & & 6.28.07
1500m M70 1 2R FEp & 5.56.93
1500m M70 2 all &5 & 7.30.85
1500m M70 e =8 12

3000m M60 1 Fo == v d & 11.13.77
3000m M60 Hig B4 = 11.45.08
3000m M60 | 3 W g & 11.59.57
3000m M60 K& Bt f& i

3000m M65 1 % EX & 11.01.65
3000m M65 | 2 Kiz 8UE &l 12.43.27
3000m M65 | 3 St F L 13.29.85
3000m M70 1 TEH = &b 13.53.76
3000m M70 L\ =58 &

5000m M35 1 BS BF fafE 19.47.98
5000m M35 2 nEE TK & 21.44.51
5000m M45 1 I RIL & 17.30.30
5000m M45 2 B = & 18.26.48
5000m M55 1 INFIR EE & 20.54.64




[%F]

# B 95 | IERL K4 LS EE 3 AR
60M W25 1 BE HE &EE 8.44 -1.2
60M W30 1 Rl BEF & 10.36 -1.2
60M W35 1 wa A% & 8.72 -1.2
60M W45 1 s HEF & 8.73 -1.2
60M W45 2 i  HF = 9.11 -1.2
60M W55 1 INEE fEENF fali 9.48 -1.2
60M W60 | 1 Rl OHF =S 9.75 -1.2
60M W70 | 1 i EKF &l 11.84 -1.2
100M W25 1 B BE &E 13.47 -0.6
100M W35 1 wiE A% & 13.78 -0.6
100M W45 1 i HF & 14.55 -0.6
100M W45 1 EE  HEF & 13.95 -0.6
100M W50 1 R = & 17.07 -0.6
100M W55 1 INFE fEENF & 15.25 -0.6
100M W55 | 2 FRik B & 17.85 -0.6
100M W60 1 RIGE OEF /N 15.72 -0.6
100M W70 1 il EKF & 19.47 -0.6
200M W25 1 NI 1= & 27.73 -1.2
200M W45 1 i #F & 30.90 -1.2
200M W60 | 1 RIG VEF /N 33.70 -1.2
200M W65 1 &)l FmF & 4152 -1.2
400M w25 | 1 NI 1= & 1.02.71

800M W70 1 B BF & 3.30.58

1500M W35 1 A HBF & 5.31.51

3000M W55 | 1 Rk # = 13.54.13

3000M W70 | 1 Rt BEF faE 14.33.15




ER-BX-I5RBRER

PR F2IEBRARR LI LHRAE

FfE B Tri265E8R178 (R)

5T E2 OHFELHRIS
[(BF]
¥ H 95 | NERL K4 R ECE% JER
EE Bk M35 | 1 Bl 2t & 6.25 0.3
E R Bk M35 | 2 4eim BE & 4.63 0.1
EE Bk M40 1 INE IE# = 5.15 0.4
E M= Bk M45 1 32 S fafd 5.89 0.8
ENE Bk M45 | 2 HIE #i RIF 5.81 -0.2
ENE Bk M45 | 3 MR E— & 5.47 0.5
ENE Bk M50 1 R W= & 5.01 0.1
ENE Bk M50 B F— fa ]
ENE Bk M50 ZsF 1§ =
E R Bk M55 1 m¥ & & 4.47 0.2
ENE Bk M55 mmE Hf if=
E M= Bk M60 1 HFT i & 4.92 0.8
ENE Bk M60 | 2 HRILES & 4.51 0.6
E =Bk M60 | 3 HE Xk & 4.50 0.0
EN=E Bk M60 | 4 NHE —RB & 4.09 -0.4
E M= Bk M65 1 KA £A & 3.38 1.2
ENE Bk M70 1 mnx & 4.10 0.5
ENE Bk M70 | 2 HPE RSB o 3.66 -0.4
ENE Bk M70 | 3 #L A% & 2.93 0.0
ENE Bk M75 1 FE RE & 2.85 -0.2
ENE Bk M75 | 2 BN & 2.84 0.6
E= Bk M40 1 EH AZ & 1.75
E= Bk M45 1 & IE &l 1.75
EE= Bk M45 2 nE IEfW REAR 1.70
E= Bk M45 | 3 #HE B fa el 1.60
E= Bk M50 Z5F 1§ =
E= Bk M55 1 A BIE & 1.40
E= Bk M65 *F F- &
=Bk M40 1 INE IE# & 9.86 -0.5
=Rk M45 1 2 S & 11.43 0.6
=Ex Bk M45 | 2 @A i]=| 11.11 15
=Bk M50 ‘il F— fafE
= Ex Bk M55 | 1 MO EX & 9.88 1.9
=Bk M60 1 FRIU FEiE fa 10.27 0.6
=k M60 | 2 HFT i BERE 10.21 0.4
=Rk M60 | 3 NHE —B & 8.40 1.2
=Ex Bk M60 | 4 ZH B & 8.18 1.4
=ER Bk M75 1 HFE ERE f= 6.00 0.0




# B 95 | ST K4 R L8R AR
FafLi% M45 1 MR s & 8.70
faiiz M45 2 =g B R 6.78
fa i M45 3 R+ g 6.55
faiiz M50 1 BA F& & 8.51
fa i M55 | 1 fiasl BIE RE 10.54
faiiz M55 | 2 A BIE & 7.12
fa i M60 | 1 ®EE F1T & 8.72
faiiz M60 | 2 ZH BZ & 7.64
fa i M65 | 1 nA #Bx & 7.76
faiiz M70 | 1 B BEX fali 7.86
fat i M70 P R &

faiiz M75 | 1 KE & 7.35
fat i M80 | 1 Bk Eih & 9.07
A i M80 | 2 ¥ B2X5 & 8.00
faiix M80 | 3 TRE =& fa [l 5.05
Y M20 | 1 Tl #0505 & 24.15
Py M40 | 1 WLIE % & 54.15
Y M45 | 1 I RIL &l 31.75
Y M45 | 2 = B RIE 30.77
Y M50 | 1 HF B &b 41.97
Y M50 | 2 meE BE & 31.49
Y% M55 | 1 mE =t o 39.71
DY M60 | 1 ZH BEZ & 23.46
Y% M65 | 1 *F F— faE 38.38
Y M70 | 1 B EX & 26.11
Y% M70 PR RS fa

Yz M75 | 1 wH# F fa el 30.80
Y% M80 | 1 TKE =& fa [l 11.58
I M35 | 1 =5 HEXER fa ] 27.40
Mg M45 | 1 =iE B B’IR 19.10
A% M45 | 2 R4 ii]m] 15.21
it M50 | 1 WE CE o 37.16
M M50 | 2 HF & fa ] 35.23
it M55 | 1 aHR BHE & 27.76
M g% M55 finsl AIIE EE

g% M70 | 1 B EX & 16.45
M M75 | 1 wHF A & 27.41




[%F]

# B 95 | IESL K4 R L8R AR
faffia W30 1 Rl BEF & 7.50
fafa W45 1 TR EE & 8.63
faffa W55 | 1 NHE EHEF RIG 9.41
fafa W55 | 2 F =7 & 7.44
faffa W55 | 3 BAR xihie & 6.69
fafa W65 | 1 &)l FmF & 6.86
faffa W75 | 1 FIR RF &l 5.91
M W45 1 TR BEE = 24.35
Mg W55 | 1 NHE EHEF RIG 24.54
A% W55 | 2 FI =7 & 23.20
Mg W55 | 3 BAR xhi & 15.25
M W75 | 1 TR HF & 8.75
Y W55 | 1 NH EHEF RIG 27.03
PYE W55 [ 2 AR Edi fa el 13.09
Yz W65 | 1 &)l FmF &l 19.20




